
Warm Up
Simplify the following expression if

a = –5, b = 2, and c = 3

abc – 2a
b + c

9/6

=(–5)(2)(3)

= –30

= 2(–5)
= –10

Why are we 
adding the 
10?

abc – 2a
b + c

We can look at 
this like we are 
subtracting two 
"chunks," then 
dividing by 5.

Subtracting a 
negative is the 
same as adding 
a positive.

Our two "chunks" 
are           and



Inv. 1.2 Recap

Length (in) 4 6 8 9 11

# of pennies 
Group 1

# of pennies 
Group 2

# of pennies 
Group 3

# of pennies 
Group 4

# of pennies 
Group 5

Class Data



Best to use the graph to make the estimates when the 
data is not linear.



Increasing linear 
relationship

Decreasing 
nonlinear 
relationship



Problem 1.2 Wrap Up

Sample data:

Is this data 
discrete or 
continuous?

Discrete or continuous 
has nothing to do with the 
type of relationship, it has 
to do with the units,You cannot split pennies.



How to
measure ...

1      2      3



Classwork is Problem 1.3 A - B2





Finish classwork.

Homework


